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Roll No. .................................

MENTAL ABILITY

Directions :  Q(1-5) Select the numbers from given options for completing series.

funsZ'k% fn, x, mÙkjksa eas ls vad NkaVksa vkSj J`a[kyk dks iw.kZ djksA
1 256, 16, 4, ........... ?

a) 8 b) 4 c) 6 d) 2

2 5, 54, 90, 115, 131, 140, .................. ?

a) 152 b) 142 c) 144 d) 146

3 4, 10, 40, 190, 940, ............ ?

a) 5140 b) 4700 c) 4680 d) 4690

4 6, 42,  ..... ?, 1260, 5040

a)  546 b) 252 c) 424 d) 328

5 3, 5, 19, 53, ?

a) 107 b) 117 c) 163 d) 165

Directions (6-10) Study the informations below and answer the questions :

In certain code 'Market has value' is coded as 'Lo pe he'. 'Value for money' is coded as 'he zo

Time 3 Hrs. M.M. 200CLASS - X

NARAYAN TALENT SEARCH EXAMINATION, 2012-13

Direction :-

1. The question paper has six parts. All questions are to be attempted.

iz'u i= ds N% Hkkx gSA lHkh iz'u vfuok;Z gSaA

2. Four alternative answers are given for each question but only one answer is

correct. Identify and put a Darken for it on the answer sheet. No other mark

is acceptable.

izR;sd iz'u ds pkj fodYi fn;s x;s gSa ijUrq muesa ls dsoy ,d lgh gSA Bhd mÙkj pqudj
mÙkj iqfLrdk esa xksys dks xgjk djsaA vU; dksbZ fpUg u yxk;saA

3. Do not use lead pencil on the answer sheet. Darken with Bal Pen. Over writ-

ing is not accepted.

iSafly dk iz;ksx mÙkj iqfLrdk ij u djsaA cky iSu ls xksys dks xgjk djsaA dkV dj fy[kk x;k

fpUg ekU; ugha gksxkA



X - 2

kh'. 'Money market' is coded as 'kh ma lo' and 'has little value' coded as 'Pe Sy he'

fdlh lkadsfrd Hkk"kk eas 'Market has value ' dks 'Lo pe he' fy[kk tkrk gSA 'Value for money' dks
'he zo kh' fy[kk tkrk gS 'Money market' dks 'kh ma lo' vkSj 'has little value' dks 'Pe sy he'

fy[kk tkrk gSA

6 How will 'In Market' be coded

'In market' dks D;k fy[kk tk,xkA
a)  ma kh b) ma Pe c) ma Lo d) None of these

7 How will 'Little value for money' be coded

'Little Value for money' dks D;k fy[kk tk,xkA
a) sy he ma lo b) sy he zo kh c) he zo sy lo d) None of these

8 What is code for 'value'

'value dks D;k fy[kk tk,xkA
a)  Pe b) He c) sy d) lo

9 What does code 'zo' stands for

dksM 'zo' fdldk fu:i.k djrk gS \
a)  In b) market c) has d) for

10 What is code for 'has'

'has' ds fy, D;k dksM gS \
a) he b) pe c) lo d) sy

11 If 'CARING' is coded as 'EDVGKC' how will CASKET be coded as

;fn 'CARING' dks 'EDVGKC' fy[kk tkrk gS CASKET dks D;k fy[kk tk,xk
a)  EDWIAP b) EDWPAI c) EDWIBP d) EDWIBQ

Directions : (12-16) Choose the odd man out bueas ls csesy NkaVksA
12 a)  Knife b) Blade c) Needle d) Sickle

13 a) GA b) HC c) DI d) LG

14 a) Computer b) Telephone c) Microwave d) Electronics

15 a) Hindi b) Language c) Tamil d) URDU

16 a) Road b) Way c) Track d) CAR

(Directions 17-21) Read the following and gave the answer below.

Seven person A,B,C,D,E,F and G are sitting in row facing North direction. A is third to right of

G. B is nearest to A. C is third to right of B. F and C are not at extreme position D is not

nearest to C.
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funsZ'k % (17-21)

lkr O;fDr A,B,C,D,E, and G ,d lh/kh iafDr eas mrj dh vksj eq¡g djds [kM+s gSaA A,G ds nkbZa vksj
rhljk gS] BA dk fudVre iMkslh gSA CD ds nkbZa vksj rhljk gSA F vkSj C eas dksbZ Hkh fljs ij ugha gSA
D,C dk fudVre iMkslh ugha gSA

17 Which one of following has same number of persons left as well as right.

fuEufyf[kr eas ls dkSu lk ,slk gS ftlds ckabZ vksj mrus gh O;fDr gSa ftrus nkbZa vksj \
a) C b) F c) A d) B

18 Which of pair is sitting at extremes.

dkSu lk ;qXe fljksa ij cSBk gSA
a) DE b) GE c) BE d) GD

19 Which of second towards right of F?

F ds nkbZa vksj nwljk dkSu gS \
a) G b) A c) B d) E

20 Which of second towards left of B ?

B ds ckbZa vksj nwljk dkSu gS \
a) E b) D c) G d) F

21 Which is sitting mid way between D and A

D vkSj A ds Bhd chp eas dkSu cSBk gSA
a) E b) G c) F d) B

22 A person goes to East direction a distance of 400m. Then he turns left and walk 400m again

turns left and walk 400 m. At last he turns right and walk 100m. How far he is from starting

point.

,d O;fDr iwoZ dh vksj 400 ehVj tkrk gS og ck;ha vksj eqM+dj 400 ehVj tkrk gS fQj cka;h
vksj eqM+dj 400 ehVj tkrk gS fQj cka;h vksj eqM+dj 400 ehVj tkrk gS var eas og vius nka;h
vksj eqM+dj 100 ehVj pyrk gS vc og vius izkjfEHkd LFkku ls fdruh nwjh ij gSA
a) 1300 b) 900 c) 800 d) 500

23-24 : Find missing character. yqIr vad crkvksA

23.

12

3

8

288

13

5

8

520

16

6

?

384

 a) 5 b) 4 c) 3 d) 6
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24.

10

7

8

85

54

?

8

7

9

a) 72 b) 56 c) 63    d) 77

25 Find the answer that can not be made from given word.

ml 'kCn dks pqfu, tks fn, x, 'kCn ls ugha cuk;k tk ldrkA

LAUGHTER

a) GATE b) RATE c) HATE    d) GRUNT

26 Complete series  J`a[kyk iw.kZ djsaA
CFL, EIK, GLJ, IOI, .............. ?

a) KRJ b) JRH c) KRH d) KQH

27 A and B are children of C. If C is mother of B but A is not daughter of C. What is relationship

between C and A.

A vkSj B cPps gSaA C ds] ;fn C ekrk gS B dh] fdarq A iq=h ugha C dh] rks C vkSj A eas D;k
lEcU/k gSA
a) Brother, Sister b) Mother, Son c) Uncle, Aunt d) None of these

HkkbZ] cgu ekrk] iq= vady] vkaVh buesa ls dksbZ ugha
28 Which of following will correct statement

fuEufyf[kr eas ls fdl mrj ls ;g lehdj.k lR; gksxkA
(7+2) x (3 x 4) - 1 = 20

a) 2 and 3 interchanged b) x and - interchanged

c) 7 and 3 interchanged d) x before bracket replaced with +

29 If KEDGY is written as EKDYG how LIGHT will be written?

;fn KEDGY dks EKDYG fy[kk tkrk gS rks LIGHT dks D;k fy[kk tk;sxk \

a) ILHTG b) ILGHT c) ILGTH d) THGIL

30 Today is Sunday. Last Wednesday was in 29 Feb. 2000. Tomorrow will

vkt jfookj gS] fiNys  cq/kokj dks 29 Qjcjh 2000 FkkA vkxkeh dy D;k gksxk \
a) 8 March 2000 b) 5 March 2000 c) 1 March 2000 d) 4 Feb 2000

31 1 year ago, a person was 8 times the son's age. Now his age is square of son's age. What is

present age of son

,d o"kZ iwoZ ,d O;fDr vk;q eas vius iq= ls vkB xq.kk cM+k FkkA vc mldh vk;q vius iq= dh vk;q
ds oxZ ds cjkcj gS iq= dh orZeku vk;q D;k gS\
a) 5 b) 6 c) 7 d) 8
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32 In a class of 40 students Kamlesh is at 9th position. According to squence 15 students are

below Vimlesh. How many students are between Kamlesh and Vimlesh.

40 fo|kfFkZ;ksa dh d{kk eas deys'k dk LFkku ukSaok gSA Js.kh vuqlkj 15 fo|kFkhZ foeys'k ls uhps gSaA
deys'k vkSj foeys'k ds chp fdrus fo|kFkhZ gSA
a) 13 b) 14 c) 15 d) 16

33 Which answer figure will complete the pattern in

question figure.

mrj vkd`fr;ksa eas ls dkSu lh vkd`fr iz'u vkd`fr dks
iw.kZ djsxhA

34 Select the answer figure in which question figure

is hidden/embeded.

mÙkj vkd`fr;ksa eas ls dkSu lh vkd`fr eas iz'u vkd`fr
fNih gqbZ gSA

Directions : Q (35-36) These question based upon following diagram in which these are three

circles A, P and S where A stand for Artist, P stand for Physics teacher and S stands for

Sanskrit teacher.

funsZ'k% uhps fn, x, iz'u bl vkd`fr ij fuHkZj gSA ;gka rhu o`r A,P vkSj S fn, gSaA tgka A dk lEcU/k
dykdjksa ls gS] P dk lEcU/k HkkSfrdh v/;kid ls gS vkSj S dk lEcU/k laLd`r v/;kid ls gSA

35 The region which represent artist who are also Physics teacher but not Sanskrit teacher.

og vad tks dykdjksa dks iznf'kZr djrk gS tks HkkSfrdh v/;kid Hkh gS ijUrq laLd`r v/;kid ugha
gSA
a) 3 b) 2,3 c) 2 d) 2,3,4

2

3
6

51

4

7

S

A P

Question figure :

Answer figure :

A B C D

Question figure :

Answer figure :

A B C D
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36 The region which represent Physics teacher who are both artist and Sanskrit teacher

og vad tks HkkSfrdh v/;kid dks fn[kkrk gS tks dykdkj Hkh gS vkSj laLd`r v/;kid HkhA
a) 2, 3, 4 b) 4 c) 2, 3 d) 3

Directions : (37-40) In each of questions given below which one of Answer figure on right should

come after problem figure on left, If sequence were continued.

funsZ'k% uhps fn, x, iz'uksa eas mÙkj vkd`fr eas ls dkSu lh vkd`fr iz'u vkd`fr;ksa ds Bhd ckn vk,xh ;fn
;g Øe pyrk jgsA

Problem Figure Answer Figure

37

38

39

40

a b c d

a b c d

a b c d

a b c d
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MATHS

41. The set of values of K for which the given Polynomial 16x2-3Kx+9 can be factorise in the

product of real linear factors

a) − ≤ ≤2 2K b) − ≤ ≤8 8K c) | |K ≤ 8 d) | |K ≥ 8

fn;s x;s cgqin 16x2-3Kx+9 eas K dk eku D;k gks fd cgqin ds okLrfod ,oa jsf[kd xq.ku [akM gksA

a) − ≤ ≤2 2K b) − ≤ ≤8 8K c) | |K ≤ 8 d) | |K ≥ 8

42. Given that one of the zero's of the cubic polynonial bx3+cx2+ax+d is zero then product of the

other two zero's is

a) 
−a

b
b) 

a

b
c) 

c

a
d) 

−c

a

fn;s x;s f=?kkrh cgqin bx3+cx2+ax+d dk ,d 'kwU;kad 0 gS 'ks"k nks 'kwU;kadks dk xq.kuQy gksxkA

a) 
−a

b
b) 

a

b
c) 

c

a
d) 

−c

a

43. If x-1, x-2 are the factor of f(x) = x3+ax2+bx-6 then

a) 
a

b

= −
= −

6

11
b) 

a

b

= −
=

6

11
c) 

a

b

=
= −

6

11
d) None

;fn x-1, x-2 cgqin f(x) = x3+ax2+bx-6 ds xq.ku[akM gS rks

a) 
a

b

= −
= −

6

11
b) 

a

b

= −
=

6

11
c) 

a

b

=
= −

6

11
d) bueas ls dksbZ ugh

44. 2, -1, 5 are the zeros of f(x)=x3-6x2+3x+10 then polynomial g(x) whose zero's are twice the

zeros of f(x) equal ?

a) x3+12x2+12x+80 b) x3-12x2+12x+80 c) x3+12x2-12x+80 d) f(x)=g(x)

;fn cgqin f(x)=x3-6x2+3x+10 ds 'kwU;kad 2, -1, 5 gSa rks gSa rks cgqin g(x)  D;k gksxk ftlds

'kwU;kad cgqin f(x) ds 'kwU;akdksa ds nks xqus gSaA

a) x3+12x2+12x+80 b) x3-12x2+12x+80 c) x3+12x2-12x+80 d) f(x)=g(x)

45. If the roots of equation x2-lx+m=0 differ by 2 then

a) m2=4(1+l) b) m2=4(1-l) c) l2=4(1+m) d) l2=4(1-m)

;fn lehdj.k x2-lx+m=0 ds ewyksa dk vUrj 2 gS rc \

a) m2=4(1+l) b) m2=4(1-l) c) l2=4(1+m) d) l2=4(1-m)
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46. If the 'less then' type  ogive and 'more then' type ogive intersect each other at (20.5, 15.5)

then the median of the given data is

a) 36 b) 20.5 c) 15.5 d) 5.5

;fn ,d ls ^de izdkj* ds rksj.k rFkk ls ^vf/kd izdkj* ds rksj.k dk izfrPNsn fcanq (20.5, 15.5)

gS rks vkadM+ksa dk ek/;d gS%

a) 36 b) 20.5 c) 15.5 d) 5.5

47. If a cotθ + bcosecθ=p and bcotθ + a cosecθ=q then p2-q2 is equal to

a) a2 - b2 b) b2 - a2 c) a2 + b2 d) b-a

;fn a cotθ + bcosecθ=p rFkk bcotθ + a cosecθ=q rc p2-q2 cjkcj gSA

a) a2 - b2 b) b2 - a2 c) a2 + b2 d) b-a

48. If  
1 3 5

2 4 6

7

8

+ + +
+ + +

=............

............

up to n term

up to n term

th

th

   
    then the value of n equal

a) 3 b) 5 c) 7  d) None of these

leh- 
1 3 5

2 4 6

7

8

+ + +
+ + +

=............

............

up to n term

up to n term

th

th

   
    ds fy, n dk eku

a) 3 b) 5 c) 7  d) bueas ls dksbZ ugha

49. Consider the series 12-22+32-42+52-62.............. of 2n term then which of the following is true ?

a) sum of 2n terms = 0n (2n+1) b) S2n = n (2n+1)

c) S2n = n(2n-1) d) None of these

2n inksa okyh Js.kh 12-22+32-42+52-62............. ds fy, fuEufyf[kr eas ls D;k lR; gksxk A

a) sum of 2n terms = 0n (2n+1) b) S2n = n (2n+1)

c) S2n = n(2n-1) d) bueas ls dksbZ ugha

50. For an arithmetic progression tm=a+(m-1)d then tm+n equals.

a) 2tm b) tm+tn c) 2tn d) None of these

fdlh lekUrj Js.kh dk m okW in a+(m-1)d ds leku gS rks tm+n dk eku fuEufyf[kr ds leku gSA

a) 2tm b) tm+tn c) 2tn d) bueas ls dksbZ ugha

51. Which of the following is true ?

a) The number 
p

q  is a terminating decimal, if prime factorisation of q is of the form 2nx5m

where n, m are positive integers where 
p

q
 is in the lowest form.



X - 9

b) 
p

q is non terminating but repeated decimal if prime factorisation of q is not the form

2nx5m where n, m are positive integers .

c) Every non terminating non recurring decimal expansion is called irrational number.

d) The HCF of 12, 15, 21 is 3

a) Only a & b b) only b & c c) only c & d d) only a, b, c & d

fuEufyf[kr eas ls D;k lR; gS A

1
p

q  ,d 'kkar n'keyo gksxk ;fn q, 2nx5m
 ds vHkkT; xq.ku[kaM ds :i eas gks n rFkk m ?kukRed

iw.kkZad gks tgk¡ 
p

q  ljyre :i eas gS

2
p

q  ,d v'kkar ysfdu vkorhZ n'keyo gksxk ;fn  q, 2nx5m ds vHkkT; xq.ku [akM ds :i eas u gks tgka

x rFkk m ?kukRed iw.kkZad gksaA

3 izR;sd v'kkar vukorhZ n'keyo izlkj dks vifjes; la[;k dgrs gSaA

4 12, 15, 21 dk egÙe lekorZd 3 gSA

a) dsoy a vkSj b a) dsoy b vkSj c c) dsoy c vkSj d d) lHkh a, b, c vkSj d

52. Number of divisors of 120 are ?

a) 32 b) 24 c) 16   d) None of these

120 ds foHkktd gSa

a) 32 a)  24 c)  16 d) bueas ls dksbZ ugha

53. If α, β, γ are yeroes of polynomial 6x3+3x2-5x+1 then α-1+β-1+γ-1 equals :

a) 5 b) -5 c) 3 d) -3

α, β, γ cgqin 6x3+3x2-5x+1 ds ewy gSa rks α-1+β-1+γ-1 dk eku gksxk \

a) 5 b) -5 c) 3 d) -3

54. Which of the following is true ?

a. The set of lines passes through a point they are called concurrent lines

b. If the lines overlaps each other in the graph, they are called dependent lines

c. If the lines are dependent, they have infinitely many solutions.

d. If the lines are parallel then pair of equations have no solutions.

a. only a & b b. only b & c c. only c & d d. all a,b,c & d
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fuEu eas ls dkSu lk dFku lR; gSA

1 js[kkvksa dk lewg tks ,d fcUnw ls gksdj tkrk gS dks laikrh js[kk;asa dgrs gSaA

2 ;fn fdlh xzkQ eas] ,d js[kk nwljh js[kk ds mij ls xqtjrh gS rks mUgsa laikrh js[kk;sa dgrs gSaA

3 ;fn nks js[kk;sa laikrh gSa rks muds vifjfer :i ls vusd gd gksaxsA

4 ;fn nks js[kk;as lekUrj gSa rks lehdj.k ;qXeksa dk dksbZ gy ugha gksrkA

a) dsoy a vkSj d a) dsoy b vkSj c c) dsoy c vkSj d d) lHkh a, b, c vkSj d

55. The pair of lines x+zy-4=0 & 4x+8y+12=0 represent on the graph gives.

a) parallel lines b) overlapping lines c) Intersecting lines d) None of these

jSf[kd ;qXe x+zy-4=0 rFkk 4x+8y+12=0 dks xzkQ ij fu:fir djus ij izkIr gksrk gSA

a) lekUrj js[kk;sa a) laikrh js[kk;sa c) izfrPNsn js[kk;sa d) buesa ls dksbZ ugha

56. Consider the system of equations a
1
x+b

1
y+c

1
=0  & a

2
x+b

2
y+c

2
=0 for

a.
a

a

b

b

1

2

1

2
≠  we get a unique solution & lines are said to be consistent.

b.
a

a

b

b

c

c

1

2

1

2

1

2
= =  lines are consitent with infinite solution

c.
a

a

b

b

c

c

1

2

1

2

1

2
= ≠  there is no solution & system of equation are known as inconsistent.

d. The values of the variable which satisfies the system of equation called solution of equation.

a) a & b only b) b & c only c) c & d only d) All of these

lHkh fudk; rFkk a
1
x+b

1
y+c

1
=0 ds fy, a

2
x+b

2
y+c

2
=0

a
a

a

b

b

1

2

1

2
≠  rks lehdj.kksa dk vkf}rh; gy gksxk vkSj js[kk;sa laxr js[kk;sa dgykrh gSaA

b
a

a

b

b

c

c

1

2

1

2

1

2
= =  rks js[kk;sa vifjfer gy ds lkFk laxr gksxhA

c
a

a

b

b

c

c

1

2

1

2

1

2
= ≠  rks lehdj.ksa dk dksbZ gy ugha gksrk vkSj js[kk;sa vlaxr dgykrh gSaA

d pj dk og eku tks nh gqbZ lehdj.kksa dks larq"V djrk gS og lehdj.kksa dk gy dgykrk gSA

mij fn;s x;s dFkuksa ds vuqlkj fuEufyf[kr eas lss dkSu lk fodYi lgh gSA

a) dsoy a vkSj b a) dsoy b vkSj c c) dsoy c vkSj d d) lHkh



X - 11

57. If y
x

x
= −

+
1

1

2

2

tan

tan
 then which of the following is also y.

a) Cos2x-Sin2x b) 2Cos2x-1 c) 1-2 Sin2x d) all of these

;fn y
x

x
= −

+
1

1

2

2

tan

tan
 rks fuEufyf[kr eas ls y fdlds cjkcj gksxk

a) Cos2x-Sin2x b) 2Cos2x-1 c) 1-2 Sin2x d) lHkh

58. The value of 
Sin Cos

Cos

2 0 2 0

2 0 0

63 27

27 30

+
  tan

 equals

a) 0 b) 1 c) 32 d) None of these

Sin Cos

Cos

2 0 2 0

2 0 0

63 27

27 30

+
  tan

 dk eku D;k gksxk

a) 0 b) 1 c) 32 d) lHkh

59. tan 240 tan 600 tan 420 tan 480 tan 660 equals

a) √2 b) -√3 c) 0 d) None of these

240 tan 600 tan 420 tan 480 tan 660 dk eku D;k gksxk

a) √2 b) -√3 c) 0 d) buesa ls dksbZ ugha

60. The angle of elevation of the top of a tower from two points A & B at a distance of l & m

respectively from the base & in the same direction are complementary then height of the

tower equals.

a) lm b) 
l

m
c) lm d) None of these

ehukj ds vk/kkj ls ,d ljy js[kk eas l vkSj m dh nwjh ij fLFkr nks fcUnqvksa A vkSj B ls ehukj ds

f'k[kj ds mUu;u dks.k iwjd dks.k gSa rks ehukj dh ÅapkbZ gksxh \

a) lm b) 
l

m
c) lm d) bueas ls dksbZ

61. The co-ordinat of the centroid of a ∆ABC are (6, 1) of its two vertices are (3,2) & (1,4) the co-

ordinate of the third vertex is.

a) (4, -3) b) (-3,4) c) (10, 7/3) d) None of these

f=Hk qt ABC eas dsUnzd ds funsZ'kkad (6,1) gSa ;fn f=Hk qt ds nks 'kh"kZ fcUnqvksa ds funsZ'kkad (3,2) rFkk

(11,4) gksa rks rhljs 'kh"kZ fcUnq ds funsZ'kkad gksxsaA

a) (4, -3) b) (-3,4) c) (10, 7/3) d) bueas ls dksbZ ugha
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62. The ratio in which the point 
11

7

40

7
,
F
HG
I
KJ  devides the line segment joining the points (1,3) &

(2,7)

a) 4:3 b) 3:4 c) 3:4 External d) None of these

(1,3) rFkk ¼2,7½ fcUnqvksa ds feyus okys js[kk [kaM dks fcUnq 
11

7

40

7
,
F
HG
I
KJ  fdl vuqikr eas foHkkftr djrk

gSA

a) 4:3 b) 3:4 c) 3:4 ckâ; d) bueas ls dksbZ ugha

63. A circular Tube of radius 
2

3
m lies in a rectangular swimming pool of dimension 5mx4m. A

man jump at the height of 5 feet into the swimming pool. The probability that he fell down

with the circular tube ?

a) 
π
4

b) 
π
20

c) 
π
45

d) None of these

2

3
 eh f=T;k dh ,d o`rkdkj V~;wc 5 eh x 4 eh dh eki okys vk;rdkj rj.krky eas gS ,d vkneh

5 QhV dh Å¡pkbZ ls rj.krky eas dwnrk gS rks o`rkdj V;wc eas fxjus dh izkf;drk gksxh\

a) 
π
4

b) 
π
20

c) 
π
45

d)  bueas ls dksbZ ugha

64. A bag containes 10 green ball and some red balls. If probability of drawing red ball is thrice

that of a green ball then probability of red ball be ........... ?

a) 
3

4
b) 1 c) 

1

2
d) None of these

,d Fksys eas 10 gjh xsasns rFkk dqN yky xsans gSa ;fn yky xsan dh izkf;drk gjh xasn dh izkf;drk ls

rhu xq.kk gS rks yky xsan dh izf;drk gksxh\

a) 
3

4
b) 1 c) 

1

2
d)  bueas ls dksbZ ugha

65. Which of the following statements are not tue

a. Through an external point infinite scents can be drawn to a circle

b. In a circle Tagnets drawn through and points of the diameter never intersect each other.

c. The quadrilateral fomed by angle bisector of a cyclicquadrilateral is non cyclic.

d. Chords equidistante from the centre are of distinct measure

a) a & b b) b & d c) a & d d) only c & d
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fuEufyf[kr eas ls dkSu lk dFku lR; ugha gS \

1 fdlh ckfg`; fcUnq ls fdlh o`r ij vlhfer Nsnd js[kk;sa [khaph tk ldrh gSa\

2 fdlh o`r ds O;kl ds var fcUnqvksa ls [khaph xbZ Li'kZ js[kk;sa dHkh Hkh ,d nwljs dks izfrPNsfnr

ugha djrhA

3 fdlh pØh; prqHk qZt ds dks.kksa ds lef}Hkktdksa ls cuk prqHk qZt pØh; prqHk qZt ugha gksrkA

4 o`r ds dsUnz ls leku nwjh ij [khaph x;h thok;sa vleku gksrh gSa A

a) a vkSj b a) b vkSj d c) a vkSj d d) c vkSj d

66. Two concentric circles are of radii 13cm & 5cm, the length of the chord of a larger circle

which touches the smaller circle be equal ?

a) 12cm b) 24cm c) 18cm d) None of these

nks ladsfUnz;k o`r ftudh f=T;k;sa 13 lseh rFkk 5 lseh gSa cM+s o`r dh thok dh yEckbZ D;k gksxh tks

NksVs o`r dks Li'kZ djrh gSA

a) 12cm b) 24cm c) 18cm d) bueas ls dksbZ ugha

67. Three metalic cubes edges 3cm, 4cm, 5cm are melted & formed in a single cube, the edge of

new cube ?

a) 8cm b) 6cm c) 6.4cm d) None of these

/kkrq ds rhu ?ku ftuds Qyd Øe'k% 3 lseh] 4 lseh] 5 lseh gSa dks fi|ykdj ,d u;k ?ku rS;kj

fd;k x;k gS rks u;s ?ku ds Qyd dh eki D;k gksxh \

a) 8cm b) 6cm c) 6.4cm d) bueas ls dksbZ ugha

68. A circle of radius 14 cm is insribed in a square the area of

the shaded region shown in the figure square cm is

a) 168cm2 b) 84cm2

c) 42cm2 d) None of these

,d oxZ ds vanj 14 lseh f=T;k dk ,d vUr% o`r [khapk x;k gS rks

Nk;kafdr Hkkx dk {ks=Qy D;k gksxk A

a) 168cm2 b) 84cm2 c) 42cm2 d) bueas ls dksbZ ugha

69. Two columns A and B are given below A ----> B indicates that informations given in column A

are connected with the information given in column B, although some element of A are

discarded with the matching.
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Column A Column B

i.
1

3 1 2π  h (r r1
2

2
2+ + r r ) a) circle

ii. Πr2 (Area) b) cuboid

iii. 2Πr ( Circumference) c) Hemisphere

iv.
Q

x r
360

2Π  (length) d) frustum

v. l x b x h (volume)

vi.
2

3
3Πr

vii. 2 (lb+bh+lh) (S. area)

Select which of the following is/are correct.

a) (i) ----> d b) (2) (3) (4) -----> a c) (5) (7) ------> (b) d) ;s lHkh

A vkSj B dkWye uhps fn;s x;s gSa ftleas A ------> B n'kkZrk gS fd LrEHk A eas nh gqbZ lwpuk;sa LrEHk

B eas nh gqbZ lwpukvksa ls lEcU/k j[krh gSa tcfd A ds dqN vo;o feyku ls fudky fn;s x;s gSaA

LrEHk A LrEHk B

i.
1

3 1 2π  h (r r1
2

2
2+ + r r ) a) o`r

ii. Πr2 (Area) b) /kukHk

iii. 2Πr ( Circumference) c) v/kZ xksyk

iv.
Q

x r
360

2Π  (length) d) fNUud

v. l x b x h (volume)

vi.
2

3
3Πr

vii. 2 (lb+bh+lh) (S. area)

a) (i) ----> d b) (2) (3) (4) -----> a c) (5) (7) ------> (b) d) ;s lHkh

70. Which of the following is possible ?

a) Two tangents through a point lies on the circumference of the circle

b) The construction of a triangle if sum of its sides is less than the third one.

c) The prbability of an event if number of favourable points are more than the number of

points of the sample space.

d) Infinite secant lines through a point exterior of the circle
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fuEufyf[kr D;k laHko gSA

a o`r dh ifjf/k ij fLFkr ,d fcUnq ls nks Li'kZ js[kk;saA
b ,d f=Hk qt dh lajpuk lEHko gS ;fn mldh fdUgha nks Hk qtkvksa dk ;ksx rhljh Hk qtk ls de gS A
c ml ?kVuk dh izkf;drk Kkr djuk ;fn ?kVuk ds i{k eas fcUnqvksa dh la[;k dqy ?kfVr ?kVukvksa dh

la[;kvksa ls vf/kd gksA
d o`r ds vUr% fcUnq ls vlhfer Nsnd js[kk;sa [khpha tkuk

71. Two dice are thrown once. The probability that product of the number appearing on the top

is perfect square.

a) 
5

7
b) 

4

9
c) 

2

9
d) None of these

nks ik'kksa dks ,d ckj Qsadus ij ik'kksa ds Åijh Qyd ij vkus okyh la[;kvksa dk xq.kuQy] ,d iw.kZ

oxZ la[;k gksus dh izkf;drk D;k gksxh

a) 
5

7
b) 

4

9
c) 

2

9
d) bueas ls dksbZ ugha

72. Which of the following is/are not true statements.

a. Mean, mode, median are measure of central tendency

b. The relationship between mean, mode and median is mode = 3 median - 2 mean

c. The abscissa of the foot of the perpendicular drawn from the point of intersection of more

than o give and less than o give is called median.

d. For symmetrical frequency distribution mean, mode and median all are distinct.

fuEufyf[kr eas ls dkSu lk dFku lR; ugha gS

a ek/;] ekf/;dk vkSj cgqyd dsfUnz; izo`fr ds ekid gSaA

b cgqyd = 3 ekf/;dk - 2 e/;

c vf/kd izdkj rksj.k vkSj de izdkj rksj.k ds izfrPNsnu fcUnq ls {kSfrt v{k ij Mkys x;s yEc ikn

dk Hk qt] vk¡dM+ksa dh ekf/;dk dgykrk gSA

d le:i vko`fr forj.k ds fy, ek/;] ekf/;dk vkSj cgqyd lHkh vleku gksrs gSaA

73. Two cubes each of volume 125cm3 are joint end to end the surface area of the resulting

cuboid equals ?

a) 125cm2 b) 250cm2 c) 150cm2 d) None of these

nks ?ku ftueas izR;sd dk vk;ru 125cm3 gS dks fljksa ls tksM+dj cuk;s x;s /kukHk dk i`"Bh; {ks=Qy

gksxk \

a) 125cm2 b) 250cm2 c) 150cm2 d) bueas ls dksbZ ugha
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74. In adjoining figure ∆ODC~∆OBA which

of the following true

a) ∠DOC=550 b) ∠DCO=550

c) ∠OAB=550 d) All of these

layXu vkd`fr eas ∆ODC~∆OBA rks dkSu lk dFku lR; gksxk

a) ∠DOC=550 b) ∠DCO=550 c) ∠OAB=550 d) ;s lHkh

75. Let ∆ ABC ~ DEF and their area's be respectively 25cm2 & 49cm2 if EF=15.4 then BC=....?

a) 11cm b) 21.56 cm c) 1.1 cm d) None of these

76. In a ∆ ABC if ∠C = 5∠B=∠A+∠B then ∠A, ,∠B & ∠C are respectively.

a. ∠A=180 ∠B=720 ∠C=900 b. ∠A=720 ∠B=180 ∠C=900

c. ∠A=900 ∠B=720 ∠C=180 d. None of these

∆ ABC eas ;fn ∠C=5∠B=∠A+∠B rks ∠A, ,∠B rFkk ∠C Øe'k% gksaxsA

a. ∠A=180 ∠B=720 ∠C=900 b. ∠A=720 ∠B=180 ∠C=900

c. ∠A=900 ∠B=720 ∠C=180 d. bueas ls dksbZ ugha

77. H.C.F. of 96 and 404 is given by (16)m then m equals

a) Terminating decimal b) Non Terminating but recurring decimal

c) Non Terminating non recurring d) None of these

;fn 96 rFkk 404 dk egÙke (16)m gS rks m dk eku gksxk \

a) 'khr n'keyo~ b) v'kkar vkSj vkorhZ n'keyo

c) v'kkar vkSj vukorhZ n'keyo d) bueas ls dksbZ ugha

78. The value of 
Sin

Cos

Sin

Cos

36

2 54

2 41

3 49

0

0

0

0−  equals

a) 
−2

3
b) 

2

3
c) 

−1

6
d) 

1

6

Sin

Cos

Sin

Cos

36

2 54

2 41

3 49

0

0

0

0−  dk eku gksxk

a) 
−2

3
b) 

2

3
c) 

−1

6
d) 

1

6

A

D

B

C

70
0

125
0
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79. The relationship between the variables x & y such that P(x,y) is equidistance from the points

A (-2, -5) & B (2,3)

a. x-2y+2 = 0 b. x+2y-2=0 c. x+2y+2=0 d. None of these

x rFkk y eas D;k lEcU/k gksxk ;fn fcUnq A (-2, -5) vkSj fcUnq B(2,3) ,d fcUnq P(x,y) ls lenwjLFk

gSaA

a. x-2y+2 = 0 b. x+2y-2=0 c. x+2y+2=0 d. bueas ls dksbZ ugha

80. Expression 2 48.  in term of p/q (where p,q are integers, HCF (p,q)=1 & q ≠ 0) is given by

a) 

82

33

b) 
81

33
c) 

244

99
d) None of these

2 48.  dk p/q :i D;k gksxk ;fn p,q iw.kkZad gS rFkk p,q dk e-l-=1 vkSj q ≠ 0 rks O;atd gksxk

a) 

82

33

b) 
81

33
c) 

244

99
d. bueas ls dksbZ ugha
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SOCIAL SCIENCES

81. Non-Cooperation movement was called off due to the incident of ..........................

a) Champaran b) Durban c) Chauri Chaura d) Kheda

vlg;ksx vanksyu---------------------- dh ?kVuk ds dkj.k can dj fn;k x;kA

a) pEikj.k b) Mjcu c) pkSjh pkSjk d) [ksM+k

82. The Jallian wala bagh massacrs was occured in ................

a) 1913 b) 1915 c) 1919 d) 1920

tfy;kaokyk ckx ujlagkj lu~-------------- eas gqvk FkkA

a) 1913 b) 1915 c) 1919 d) 1920

83. ............. was not the part of Indo-China

a) Sudan b) Combodia c) Vietnam d) Laos

----------- fgUn phu dk vax ugha FkkA

a) lqMku b) dEcksfM;k c) fo;ruke d) ykvksl

84. Simon Commission came to India in

a) 1920 b) 1928 c) 1930 d) 1943

lkbeu deh'ku Hkkjr dc vk;k \

a) 1920 b) 1928 c) 1930 d) 1943

85. Who wrote the book "Anand Math".

a)Subhash Chandra Bose b) Bakim Chandra Chaterji

c) Kanta Prasad d) M.L. Trivedi

vkuUneB uked iqLrd fdlus fy[kh Fkh \

a) lqHkk"k panz cksl b) cafde pUnz pVthZ c) dkark izlkn d) ,e-,y-f=osnh

86. Vernacular Press act was passed in ...........

a) 1875 b) 1876 c) 1817 d) 1878

oukZdqyj izSl ,DV lu~----------------- eas ikl gqvk FkkA

a) 1875 b) 1876 c) 1817 d) 1878
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87. Rolat act was passed in ..................

a) 1929 b) 1927 c) 1919 d) 1930

jkSysV ,DV dc ikfjr gqvk \

a) 1929 b) 1927 c) 1919 d) 1930

88. Among the following which country suffered disintegration due to political fights on the

basis of religious and ethnic identities ?

a) Belgium b) India c) Yugoslavia d) Netherlands

fuEufyf[kr esa ls fdl ns'k dks /kkfeZd vkSj tkfr; igpku ds vk/kkj fo[kaMu dk lkeuk djuk iM+kA

a) csfYt;e b) Hkkjr c) ;wxksLykfo;k d) uhnjySaM

89. In India seats are reserved for women in

a) Lok Sabha b) State legislative assemblies    c) Cabinets d) Panchayati Raj bodies

Hkkjr eas vkSjrksa ds fy, vkj{k.k dh O;oLFkk gSA

a) yksd lHkk b) fo/kku lHkk c) eaf=e.My d) iapk;rh jkt dh laLFkk,¡

90. What is the guiding Philosophy of the Bharatiya Janta Party

a) Bahujan Samaj b) Revolutionary Democracy

c) Intergral humanism d) Modernity

Hkkjrh; turk ikVhZ dk eq[; izsjd fl}kUr D;k gS \

a) cgqtu lekt b) Økafrdkjh vkUnksyu c) lkaLd`frd jk"Vªokn d) vk/k qfudrk

91. Who among the following is the founder of the Bahujan Samaj Party ?

a) Kanshi Ram b) Sahu Maharaj c) Jotiba Phule d) B.R. Ambedkar

buesa ls dkSu cgqtu lekt ikVhZ dk laLFkkid gSA

a) dka'kh jke b) lkgw egkjkt c) T;ksfrck Qwys d) ch-vkj-vEcsndj

92. Studies on political and social inequalities in democracy show that

a) democracy and development go together

b) inequalities exist in democracies

c) inequalities do not exist under dictatorship

d) dictatorship is better than democracy
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yksdrkaf=d O;oLFkk ds jktuhfrd vkSj lkekftd vlekurkvksa ds ckjs eas fd, x, v/;;u crkrs

gSa fd%

a) yksdrU= vkSj fodkl lkFk pyrs gSaA b) yksdrakf=d O;oLFkkvksa eas vlekurk,¡

c) rkuk'kkgh eas vlekurk,¡ ugha gksrh d) rkuk'kkgh yksdra= ls csgrj lkfcr gqbZ gSA

93. In the context of assessing democracy which among the following is odd one out. Democra-

cies need to ensure :

a) Free and fair elections b) dignity of the individual

c) Majority rule d) equal treatment before law.

yksdra= ds ewY;kadu ds fygkt ls bueas dksbZ ,d pht yksdrkaf=d O;oLFkkvksa ds vuq:i ugha gS

a) LorU= vkSj fu"i{k pquko b) O;fDr dh xfjek

c) cgqla[;dksa dk 'kklu d) dkuwu ds le{k lekurk

94. Which of the following neighbouring countries has better performance interms of human

development than India ?

a) Bangladesh b) Sri Lanka c) Nepal d) Pakistan

fuEufyf[kr iM+kslh ns'kksa eas ls ekuo fodkl ds fygkt ls fdl ns'k dh fLFkfr Hkkjr ls csgrj gS\

a) caxykns'k b) Jhyadk a) usiky b) ikfdLrku

95. Development of a country can generally be determined by

a) per capita income b) Average literacy level

c) health status of its people d) all the above

lkekU;rk fdlh ns'k dk fodkl fdl vk/kkj ij fu/kkZfjr fd;k tkrk gS \

a) izfr O;fDr vk; b) vkSlr lk{kjrk nj c) yksxksa dh LokLF; fLFkfr d) mijksDr lHkh

96. In a S.H.G. most of the decisions regarding savings and loan activities are taken by

a) Bank b) Members

c) Non government organisation d) None of these

vkRefuHkZj xqV eas cpr vkSj _.k lEcfU/kr vf/kdrj fu.kZ; ysrs gSa\

a) cSad b) lnL; c) xSj ljdkjh laLFkk d) buesa ls dksbZ ugha
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97. The sectors are classified into public and private sector on the basis of :

a) Employment conditions b) Ownership of enterprises

c) Number of workers employed in the enterprise      d) the nature of economic activity

lkoZtfud vkSj futh {ks=d vk/kkj ij foHkkftr gS

a) jkstxkj dh 'krksZa b) mn~;eksa ds LokfeRo

c) mn~;e eas fu;ksftr Jfedksa dh la[;k d) vkfFkZd xfrfof/k;ksa ds LoHkko

98. The most common route of investments by MNCs in countries around the world is to

a) Set up factories b) buy existing local companies

c) Form partnerships with local companies d) All of these

fo'o ds ns'kksa eas cgqjk"Vªh; dEifu;ksa }kjk fuos'k dk lcls vf/kd lkekU; ekxZ gSA

a) u;s dkj[kkuksa dh LFkkiuk b) LFkkuh; dEifu;ksa dks [kjhn ysuk

c) LFkkuh; dEifu;ksa ls lka>snkjh djuk d) mijksDr lHkh

99. Globalisation has led to improvement in living conditions

a) of all the people b) of people in the developed countries

c) of workers in the developing countries d) None of the above

oS'ohdj.k us thou Lrj ds lq/kkj eas lgk;rk igq¡pkbZ gSA

a) lHkh yksxksa ds b) fodflr ns'kksa ds yksxksa ds

c) fodkl'khy ns'kksa ds Jfedksa ds d) mijksDr eas ls dksbZ ugha

100. Production of a commodity mostly through the natural process is an activity in ................

sector.

a) Primary b) Secondary c) Tertiary              d) Information technology

,d oLrq dk vf/kdka'kr % izkd`frd izfØ;k ls mRiknu ------------- {ks=d dh xfrfof/k gS\

a) izkFkfed b) f}rh;d c) r`rh;d d) lwpuk vkS/;ksfxdh

101. In the terms of GDP the share of tertiary sector in 2003 is ..................

a) between 20% to 30% b) between 30% to 40%

c) between 50% to 60% d) 70%

th-Mh-ih- ds enksa eas o"kZ 2003 eas r`rh;d {ks=d dh fgLlsnkjh ----------------- gSA

a) 20% ls 30%  ds chp b) 30% ls 40%  ds chp

c) 50% ls 60%  ds chp d) 70%
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102. Formal sources of credit does not include

a) Banks b) Cooperatives c) Employees d) None of these

_.k ds vkSipkfjd lzksrksa eas 'kkfey ugha gS

a) cSad b) lgdkjh lfefr c) ekfyd d) buesa ls dksbZ ugha

103. Who proclaimed the Dams as the temples of Modern India ?

a) Jawahar Lal Nehru b) Mahatma Gandhi c) Kamla Nehru d) Rajeev Gandhi

cka/kksa dks vk/k qfud Hkkjr ds efUnjksa dh laKk fdlus nh Fkh \

a) tokgj yky usg# b) egkRek xka/kh c) deyk usg: d) jktho xka/kh

104. Which one of the following type of resource is iron ore ?

a) Renewable b) Flow c) Biotic d) Non renewable

ykSg v;Ld fdl izdkj dk lalk/ku gS \

a) uohdj.k ;ksX; b) izokg c) tSo d) vuohdj.k ;ksX;

105. Which of the following conservation strategies do not directly involve community participa-

tion.

a) Joint forest management b) Chipko movement

c) Beej Bachao Andolan d) Demarcation of wildlife sanctuaries

bueas ls dkSu lk laj{k.k rjhdk leqnk;ksa dh lh/kh Hkkxhnkjh ugha djrk \

a) l;aqDr ou izcU/ku b) fpidks vkUnksyu

c) cht cpkvks vkUnksyu d) oU; tho i'k q fogkj dk ifjlheu

106. Which one of the following is a leguminous crop ?

a) Pulses b) Millets c) Jawar d) Sesamum

bueas ls dkSu lh ,d Qyhnkj Qly gS \

a) nkysa b) eksVs vukt c) Tokj d) fry

107. Which one of the following minerals is contained in the Monazite sand ?

a) Oil b) Uranium c) Thorium d) Coal

eksuktkbV jsr eas fuEufyf[kr eas ls dkSu lk [kfut ik;k tkrk gS \

a) [kfut rsy b) ;wjsfu;e c) Fkksfj;e d) dks;yk
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108. Which one of the following industries uses limestone as a raw material :

a) Aluminium b) Sugar c) Cement d) Jute

fuEu eas ls dkSu lk mn~;ksx pwuk iRFkj dks dPps eky ds :i eas iz;qDr djrk gS \

a) ,Y;wehfu;e b) phuh c) lhesaV d) iVlu

109. Koderma in Jharkhand is the leading producer of which one of the following minerals ?

a) Bauxite b) Mica c) Iron ore d) Copper

>kj[kaM eas fLFkr dksMjek fuEufyf[kr ls fdl [kfut dk vxz.kh mRiknd gS \

a) ckWDlkbV b) vHkzd c) ykSg v;Ld d) rkcak

110. Which one of the following is the most important modes of transporation in India ?

a) Pipeline b) Roadways c) Railways d) Airways

fuEu eas ls dkSu lk ifjogu lk/ku Hkkjr eas izeq[k lk/ku gS \

a) ikbiykbu b) lM+d ifjogu c) jsy ifjogu d) ok;q ifjogu

111. Which one of the following industries manufactures telephone computer etc.

a) Steel b) Aluminium c) Electronic            d) Information Technlogy

fuEu eas ls og mn~;ksx tks nwjHkk"k] dEi;wVj vkfn l;a= fufeZr djrk gS \

a) LVhy b) ,Y;wehfu;e c) bySDVªkWfud d) lwpuk izkSn~;ksfxdh

112. Which one of the following is announced by the government in support of a crop ?

a) Maximum support price b) Minimum support price

c) Moderate support price d) Influential support price

ljdkj fuEufyf[kr eas ls dkSu lh ?kks"k.kk Qlyksa dks lgk;rk nssus ds fy, djrh gS \

a) vf/kdre lgk;rk ewY; b) U;wure lgk;rk ewY;

c) e/; lgk;rk ewY; d) izHkkoh lgk;rk ewY;

113. Which of the following is the main cause of land degradation in Punjab ?

a) Intensive cultivation b) Over irrigation

c) Deforestation d) Overgrazing

iatkc eas Hkwfe fuEuhdj.k dk fuEufyf[kr eas ls eq[; dkj.k D;k gS \

a) xgu [ksrh b) vf/kd flapkbZ c) ouks ewyu d) vfr i'k qpkj.k
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114. Which of these statements is not a valid reason for the depletion of flora and fauna ?

a) Agricultural expansion b) Large scale developmental projects

c) Grazing and fuel wood collection d) Rapid industrialisation and urbanisation

bueas ls dkSu lh fVIi.kh izkd`frd ouLifrtkr vkSj izk.khtkr ds âkl dk lgh dkj.k ugha gS\

a) d`f"k izlkj b) o`gr Lrjh; fodkl ifj;kstuk,¡

c) i'k qpkj.k vkSj bZ/ku ydM+h ,df=r djuk d) rhoz mn~;ksxhdj.k vkSj 'kgjhdj.k

115. Which one of the following is a Rabi crop ?

a) Rice b) Gram c) Jawar d) Cotton

bueas ls dkSu lh jch Qly gS \

a) pkoy b) puk c) Tokj d) dikl

116. National cadet crops (NCC) a body formed

a) 1947 b) 1948 c) 1952 d) 1944

jk"Vªh; dsfMV dksj ¼,u-lh-lh½ dk xBu dc gqvk \

a) 1947 b) 1948 c) 1952 d) 1944

117. On which date a killer Tsunamis hit 11 south eastern countries of Asia

a) 26 December 2003 b) 26 January 2004 c) 26 December 2004 d) None of these

fdl fnukad dks lqukeh ygjksa us nf{k.k iwoZ ,f'k;k ds 11 ns'kksa eas dgj cjik;k \

a) 26 December 2003 b) 26 January 2004 c) 26 December 2004 d) dksbZ ugha

118. In 1883 the violent explosion of the famous volcano in Indonesia produced Tsunamis

measuring .......... metres which crashed upon Java and Sumatra

a) 20 metre b) 30 metre c) 40 metre d) 50 metre

1883 eas bUMksusf'k;k ds ØdwV Tokykeq[kh eas gq, Hkh"k.k foLQksV ds dkj.k tkok vkSj lqek=k eas

fdrus ehVj Å¡ph lqukeh ygjsa gqbZ Fkh \

a) 20 ehVj b) 30 ehVj c) 40 ehVj d) 50 ehVj
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119. On 21st August 2002 heavy monsoon in eastern Nepal triggered land slides and floods which

killed ............. peoples.

a) 413 b) 420 c) 419 d) 425

21 vxLr 2002 dks Hkkjh ekulwu ds dkj.k iwohZ usiky eas vk, Hkw[[kyu vkSj ck<+ ds dkj.k ---

--------- yksx ekjs x,\

a) 413 b) 420 c) 419 d) 425

120. Tsunamis waves generated by

a) Earthquakes b) Volcanic eruptions c) Underwater land slides d) All of these

lqukeh ygjksa ds mRiUu gkssus dk D;k dkj.k gS \

a) Hkwdai b) Tokykeq[kh QVuk c) tyxr Hkw[[kyu d) ;s lHkh
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SCIENCE

121. A convex lens having focal length 12 cm, form a real image of an object. What is the mini-

mum distance between object and its real image ?

12 lseh Qksdl nwjh dk ,d mÙky ySal ,d oLrq dk okLrfod izfrfcEc cukrk gSA oLrq vkSj mlds

izfrfcEc ds chp dh U;wure nwjh fdruh gksxh \

a) 18cm b) 24cm c) 36cm d) 48cm

122. In which of the following cases total internal reflection cannot be obtained, when ray travel

from.

a) water to glass b) glass to air c) glass to water d) water to air

iw.kZ vkarfjd ijkorZu fuEu fLFkfr;ksa eas ls fdl fLFkfr eas laHko ugha] tc izdk'k dh fdj.k -------

--------tkrh gSA

a) ikuh ls 'kh'ks eas b) 'kh'ks ls ok;q eas c) 'kh'ks ls ikuh eas d) ikuh ls ok;q eas

123. A spherical mirror and spherical lens has focal length 15cm., then

a) Both are concave b) Both are convex c) Mirror is concave & lens is convex

d) Mirror is convex & Lens is concave

fdlh xksyh; niZ.k rFkk fdlh irys xksyh; ySal dh Qksdl nwjh 15 lseh gSA

a) nksuksa vory gSA b) nksuksa mÙky gSa

c) niZ.k vory gS vkSj mÙky ySal gSA d) niZ.k mÙky gS vkSj ySal voÙky gSA

124. The least distance of distinct vision for a young adult.

lkekU; n`f"V ds r:.k O;Ld ds fy, lqLi"V n`";rk dh vYire nwjh D;k gSA
a) 25m b) 2.5cm

c) 2.5m d) 25cm.

125. The change in focal length of an eye lens is caused by the action of

a) Iris b) Cilliary muscle c) retina d) pupil

ekuo us= dh Qksdl nwjh fdlds }kjk ifjofrZr gksrh gSA

a) iqryh b) i{;keh isf'k;ka

c) jsfVuk d) va/k fcUnw
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126. Each of the resistance in the network shown in fig. is equal

to r, then what is the resistance between terminals A and B ?

;fn fp= eas izR;sd izfrjks/kd dk eku B  gks rks A vkSj B ds

chp dk dqy izfrjks/k gksxk A

a) r b) 2r

c) 
3

5
r  d) 

4

5
r

127. Two bulbs of 25w and 100 w joined in series are connected to mains. Which bulb will glow

brighter

a) 25w b) 100 w c) both will glow with same brightness

d) First 25 watt than 100 w

Js.kh Øe eas tqM+s nks cYc 25 okV rFkk 100 okV] fo/k qr /kkjk ds L=ksr ls tksM+s x;s gSaA dkSu ls cYc

ds izdk'k dh rhozrk vf/kd gksxh \

a) 25w b) 100 w

c) nksuksa dh rhozrk leku gksxh d) igys 25 w dh rFkk ckn eas 100 w dh

128. Two (220v, 100watt)  and (220v, 60 watt) lamps are connected in series. What is the power

of the combination ?

(220V, 100W) rFkk (220V, 60W) ds nks cYc Js.khØe easa tksM+s x;s gSaA nksuksa dh dqy 'kfDr gksxhA

a) 3.75 watt b) 37.5 watt c) 40.5 watt d) 47.5 watt

129. When a coil is rotated in a uniform magnetic field an electric current is produced because

a) magnetic energy convert into electric energy

b) mechanical energy convert into electrical energy

c) both convert into electric energy

d) None of those

tc ,d dq.Myh ds pqEcdh; {ks= eas ?kqek;k tkrk gS rks fo|qr /kkjk mRiUu gksrh gS D;ksafd

a) pqEcdh; ÅtkZ fo|qr ÅtkZ eas cnyrh gSA b) ;kaf=d ÅtkZ fo|qr ÅtkZ eas cny tkrh gSA

c) nksuksa fo|qr ÅtkZ eas cny tkrh gSA d) buesa ls dksbZ ugha
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130. The scientist who gave relationship between electricity and magnetism is ..............

a) Henry Christian Oersted         b) Flemming      c) Maxwell d) Newton

fo|qr vkSj pqEcdRo ds chp ,d egRoiw.kZ [kkst djus okys oSKkfud FksA

a) gSujh fØLVu vkLZVsM b) Qysfeax

c) eSDloSy d) U;wVu

131. The last component left after the disintegration of radioactive uranium is

a) Thorium b) Polonium c) Lead d) Radium

jsMh;ks,fVo ;qjsfu;e ds fo|Vu dk vfUre mRikn gSA

a) Fkksfj;e b) iksyksfu;e c) lhlk d) jsfM;e

132. A house wife uses in her stove kerosene out in preference to petrol because the kerosene oil

is..........

a) cheaper b) less volatile

c) has higher ignition temperature d) is more readily avaible

,d xzg.kh vius LVkso eas iSVªksy dh vis{kk feêh ds rsy dk iz;ksx djrh gS] D;ksafd feêh dk rsy

a) lLrk gS b) de ok"i'khy gS

c) bldk Toyu rki vf/kd gS d) vklkuh ls miyC/k gS

133. Coal gas is a mixture of ....................... dksy xSl -------------- dk feJ.k gSA

a) Na
2  

and SO
2

b) H
2
, CH

4
 and CO c) CO

2
 and H

2
d) CH

3
 and H

2

134. In which case SO
2
 act as oxidizing agent while reacting with ..................

a) Acidified KMnO
4

b) H
2
S c) Acidified K

2
Cr

2
O

7
d) Conc. HNO

3

SO
2
 ¼lYQj MkbZvkDlkbM½ fuEu eas ls fdlds lkFk vfHkfØ;k djds mipk;d dk dk;Z djrh gSA

a) vEyh; KMnO
4

b) H
2
S c) vEyh; K

2
Cr

2
O

7
d) lkafnzr HNO

3

135. NaOH+H
2
SO

4
--------->Na

2
SO

4
+H

2
O

The above reaction is an example of

a) Double displacement b) Neutralization reaction

c) Both a and b d) None of these

mijksDr lehdj.k fuEu eas ls fdldk mnkgj.k gSA

a) nksgjh fD;kstu vfHkfØ;k b) mnklhdj.k vfHkfØ;k

c) nksuksa a vkSj b d) bueas ls dksbZ ugha
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136. A solution react with crushed egg shell to give a gas that turns lime water milky, the solution

contains...............

a) NaCI b) HCI c) LiCI d) KCI

dksbZ foy;u v.Ms ds ihls gq, dop ls vfHkfØ;k djds bl xSl mRiUu djrk gS tks pwus ds ikuh

dks nwf/k;k dj nsrk gSA ;g foy;u ------------------ gSA

a) NaCI b) HCI c) LiCI d) KCI

137. 0.4g. of NaOH present in one liter solution has PH..........

0.4g. NaOH ds ,d fyVj foy;u dh PH D;k gSa

a) 12 b) 8 c) 10 d) 11

138. Which of following has lowest PH value

fuEu eas ls fdldh PH dk eku lcls de gSA

a) 1MHCI b) 1M NaOH c) 1M H
2
SO

4
d) 1M C

2
H

5
OH

139. Chemical reduction is not suitable for converting

a) Bauxite into Aluminum b) Cuprite into Copper

c) Heamite into iron d) Zinc oxide into zinc

jlkf;ud vip;u fdlds fy, ugha fd;k tk ldrk

a) ckDlkbV ls ,yqfefu;e eas b) D;wijkbZV ls dkWij eas

c) gsesVkbZV ls vk;ju eas d) ftad vkDlkbZM ls ftad eas

140. Which of the following are components of German Silver

teZu flYcj feJr /kkrq ds la?kVd dkSu ls gSaA

a) Cu, Zn, Ni b) Cu, Zn, Sn c) Ag, Cu, Au d) Fe, Cr, Ni

141. In electro refining of copper some gold is deposited as

a) Anode mud b) Cathode mud c) Cathode d) Anode

rkacs dh fo|qr vi?kVuh vfHkfØ;k eas lksuk fdl :i eas tek gks tkrk gSA

a) ,uksM viod b) dSFkksM viod c) dSFkksM d) ,uksM

142. Which of the following substance (ore) does not contain oxygen

a) Bauxite b) Epson salt c) Cryolite d) Dolomite

bueas ls dkSu ls vk;Ld eas vkDlhtu ugha gS%

a) ckDlkbZV b) ,Ile lkYV c) Øk;ksykbV d) MksyksekbV
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143. Sodium triphosphate is added to washing powders

a) To keep the dust suspended in water b) To maintain alkalinity

c) To produce whiteness d) To keep washing powder dry

okf'kax ikmMj eas lksMh;e VªkbQkLQsV Mkyk tkrk gSA

a) ikuh eas /kwyd.kksa ds fuyEcu ds fy, b) Nkjh; xq.kksa dks dk;e j[kus ds fy,

c) lQsnh ykus ds fy, d) okf'akx ikmMj dks lw[kk j[kus ds fy,

144. How many isomer are there in Hexane C
6
H

14

a) 3 b) 4 c) 5 d) 6

gsDlsu C
6
H

14
 ds fdrus leko;o gSA

a) 3 b) 4 c) 5 d) 6

145. Atomic size as we move from top to bottom in periodic table

a) Increases b) Decreases c) remains same d) All of the above

vkoÙkZ lkj.kh eas oxZ eas Åij ls uhps tkus ij ijek.kqvksa dk vkdkj

a) c<+rk gS b) ?kVrk gS c) leku jgrk gS d) mijksDr lHkh

146. Which of the following a metalloid ?

fuEu eas ls dkSu lh mi/kkrq gS \

a) Ba b) Bi c) Br d) Be

147. Who was the first to isolate DNA from the nucleus of the pus cells

a) Watson and Crick b) Frederick Meisher c) Avery d) Griffith

fdl oSKkfud us loZizFke Mh-,u-,s- dks ihd dksf'kdk ls vyx fd;k

a) okVlu ,oa fØd b) ÝsfMd fe'kj c) ,ojh d) fxzfQFk

148. The book "Origin of Species" was written by

a) Lamarck b) De Vries c) Darwin d) Mendel

tkrh;ksa dk vH;qn; iqLrd fdlus fy[kh

a) ysekdZ b) Mh ojht c) MkfoZu d) esaMy
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149. In Bryophyllum, Vegetative propagation takes place by

a) Root b) Leaf c) Stem d) None of these

czk;ksQkbye ds fdl Hkkx eas dkf;d izo/kZu gksrk gS

a) tM+ b) iÙkh c) ruk d) bueas ls dksbZ ugha

150. The process of release of egg from the ovary is called

a) Reproduction b) Ovulation c) Gestation d) None

fdl fØ;k }kjk v.kq vaMk.k q vaMk'k; ls eqDr gksrs gSaA

a) tuu b) vaMksRlxZ c) xHkkZfof/k d) bueas ls dksbZ ugha

151. Number of Spinal nerves in man is

a) 10 pairs b) 31 pairs c) 12 pairs d) 21 pairs

es:jTtw eas fdruh tksM+h es:rfizdk,¡ fudyrh gSaA

a) 10 tksM+h b) 31 tksM+h c) 12 tksM+h d) 21 tksM+h

152. Which endocrine gland produces Growth hormone

a) Pancreas b) Thyroid c) Adrenal d) Pituitary

dkSulh vUr% L=koh xzUFkh o`f) gkeksZu lzkfor djrh gS

a) vXuk'k; b) voVq c) vf/ko`Dd d) ih;w"k

153. Name the excretory unit in flatworms

a) Osculum b) Contractile vacuole c) Nephridia d) Flame cells

d`fe;ksa eas mRltZu bdkb;ksa dk uke gS

a) vkWLdqye b) fjfDrdk c) o`Ddd d) Tokyk dksf'kdk

154. The cup shaped structure of nephron is known as

a) Glomerulus b) Bowman's Capsule c) Ureter d) Urinary Bladder

o`Dd ufydkvksa eas di ds vkdkj dh jpuk dks D;k dgrs gSa

a) dksf'kdk xqPN b) cksej laiqV c) ew=okfguh d) ew=k'k;

155. Lymph consists of ...................

a) Hemoglobin b) R.B.C. only c) Lymphocytes d) R.B.C. & W.B.C.

ylhdk eas 'kfey gS

a) gheksXyksfcu b) dsoy R.B.C. c) ylhdk.kq d) R.B.C. rFkk W.B.C.
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156. The blood pressure is measured by

a) Thermometer b) Stethoscope c) Sphygmomanometer d) None of these

jDr nkc dks --------------- }kjk ekik tkrk gS

a) FkekZehVj b) LVsFkksLdksi c) fLQaxeksesuksehVj d) bueas ls dksbZ ugha

157. Ammonia is converted into urea in

a) Lungs b) Kidney c) Liver d) Skin

fuEu eas ls fdlds }kjk veksuh;k dks ;wjh;k eas cnyk tkrk gSSA

a) QsQM+ks b) o`Dd c) ;d`r d) Ropk

158. Which metal ion is present in chlorophyll ?

a) Iron b) Copper c) Magnesium d) Manganese

dkSu lh vk;fud /kkrq DyksjksfQy eas mifLFkr gksrh gS \

a) yksgk b) rkack c) esXuhf'k;e d) esUxuht

159. Glycolysis operates in

a) Golgi bodies b) Mitochondria c) Cytoplasm d) Ribosomes

Xykbdksfyfll fØ;k fuEu eas ls fdlesa gksrh gSA

a) xkYthdk; eas b) ekbVksdksfUMª;k c) dksf'kdk nzO; d) jkbckslksel

160. The end product of anaerobic Respiration in the muscles of animals is

a) Ethyl alcohol b) Lactic acid c) Co
2

d) H
2
O

ekuo is'kh;ksa eas vok;oh; 'kolu dks vafre mRikn dkSu ls gSa \

a) bZFkkbZy ,ydksgy b) ySfDVd vEy c) Co
2

d) H
2
O
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ENGLISH

Read the pasage given below and answer the question that follow

Oil has changed the life of the ordinary man. To it we owe the existence of

the motor car, and the airplane. It has changed the methods of warfare on land

and sea. Because it burns well it is used as fuel and in some ways it is superior

to coal in this respect. Many big ships now burn oil instead of coal. Because it is

very slippery, it is used for lubrication. But the oil used for this purpose has to be

of proper thickness. If it is too thin it will not give sufficient lubrication, and if it is

too thick it will not reach all parts of a machine that have to be lubricated.

It is believed that oil under the surface of the earth originated in the distant past,

and was formed from living things in the sea. Countless billions of minute sea

creatures and plants lived and sank to the seabed. They were covered with huge

deposits of mud; and by processes of chemistry. pressure and temperature were

changed through long ages into what we know as oil. The rocks in which oil is

found are of marine origin too. They are sedimentary rocks. Almost always the

remains of shells, and other woofs of sea life, are found close to the oil. A very

common sedimentary rock is called shale, which is a soft rock and was obviously

formed by being deposited on the seabed. And where there is shale there is

likely to be oil.

161.Oil has affected the life of everyone by

(a) changing the methods of warfare

(b) its use as fuel

(c) its use in transport

(d) giving us the most efficient lubricating agent for machines

162.Which of the following statements is NOT true?

(a) Oil is often a better fuel than coal

(b) Oil is formed in sedimentary rocks

(c) Shale is a kind of a soft sedimentary rock

(d) Oil is obtained from living things in the sea

163.Which expression best sums up the central idea of the passage?
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(a) Use of Oil (b) Oil in Our Life

(c) The Story of Oil (d) The Origin of Oil

164.The basic raw material from which oil has been formed over ages is:

(a) Sedimentary rocks (b) Huge deposits of mud in the sea

(c) Remains of shells (d) Minute Sea creatures and plants

165.The opposite of "minute" as used here is

(a) second (b) huge (c) dead (d) undersea

Part II

166.Pick out the correctly-spelt word

(a) embarass (b) embarrass (c) embaras (d) embrass

167.An animal which lives both on land and in water can be said to be

(a) aquatic (b) aquarius (c) biped (d) amphibious

168.Fill in the blank with the correct phrase:

The plane______________ for Hong Kong after a short delay

(a) went up (b) drove away (c) took off (d) pushed off

169.'by and large' means

(a) generally (b) almost always (c) sometimes (d) to most people

170.Fill in the blanks with the correct form of the verb:

You __________________ (inform) us beforehand. Otherwise we (send) some

one to bring you.

(a informed, might send (b) had informed, might send

(c) did not inform, might have sent (d) had not informed, might have sent

171. Mark the grammatically correct sentence:

a. The kids were put on the bus by us after giving some money

b. We put the kids on the bus after being given some money to them

c. We put the kids on the bus after giving them some money

d. After some money being given, the kids were put on the bus

172.Mark the correct Passive form of

Who has put the book on the shelf?

(a) By whom has the book been put on the shelf?
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(B) The book has been put on the shelf by whom?

(c) Who has the book been put on the shelf by?

(d) By whom has been put the book on the shelf?

173.Choose the correct preposition to fill the blank:

I am conscious _______ my duties.

(a) of (b) about (c) towards (d) for

174.Mark the sentence which is correctly punctuated:

(a) My father who works in Mumbai is coming home during the holidays.

(b) My father, who works in Mumbal is coming home during the holidays.

(c) My father who works in Mumbai, is coming home during the holidays.

(d) My father, who works in Mumbai, is coming home during the holidays.

175.Given below is a sentence in Direct Speech. From the four sentences that

follow, choose the one that best expresses its meaning in Indirect Form of Speech:

I said to him, 'How is your father?"

(a) I asked him how was his father.

(b) I asked him how his father was.

(c) I asked him how his father is.

(d) I asked him that how was his fhther.
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fgUnh

fuEufyf[kr x|ka'k ds vk/kkj ij iz'uksa ds mfpr fodYi pqudj fyf[k, %

leL;k,¡ oLrqr% thou dk i;kZ; gSA ;fn leL;k,¡ u gksa rks vkneh vius dks

fuf"Ø; le>us yxsxkA ;s leL;k,¡ thou dh izxfr dk ekxZ iz'kLr djrh gSaA

leL;k dks lqy>krs le;] mldk lek/kku djrs le; O;fDr dk Js"Bre rÙo

mHkjdj vkrk gSA /keZ] n'kZu] Kku] euksfoKku bUgha iz;Ruksa dh nsu gSA iqjk.kksa

eas vusd dFkk,¡ ;g f'k{kk nsrh gSa fd euq"; thou dh gj fLFkfr eas thuk lh[ks

o leL;k mRiUu gksus ij mlds lek/kku ds mik; lkspsA tks O;fDr ftruk

mÙkjnkf;Roiw.kZ dk;Z djsxk mruk gh mlds le{k leL;k,¡ vk,axh vkSj muds

ifjizs{; eas gh mldh egkurk dk fu/kkZj.k fd;k tk,xkA izR;sd leL;k vius

lkFk la?k"kZ ysdj vkrh gSA izR;sd la?k"kZ ds xHkZ eas fot; fufgr jgrh gSA leLr

xzaFkksa vkSj egkiq#"kksa ds vuqHkoksa dk fu"d"kZ ;g gS fd la?k"kZ ls Mjuk vFkok

mlls foeq[k gksuk ykSfdd o ikjykSfdd lHkh n`f"V;ksa ls vfgrdj gS] ekuo

/keZ ds izfrdwy gS vkSj vius fodkl dks vuko';d :i ls ckf/kr djuk gSA vki

tkfx,] mfB,] n`<+ ladYi vkSj mRlkg ,oa lkgl ds lkFk la?k"kZ :ih fot; jFk

ij p<+ tk,¡ vkSj vius thou ds fodkl dh ck/kkvksa :ih 'k=qvksa ij fot; izkIr

dhft, A

176 bl vuqPNsn dk mfpr 'kh"kZd nhft, %

d½ thou ,d leL;k [k½ egkurk ds mik;

x½ la?k"kZ% lQyrk dk vk/kkj ?k½ thou ,d la?k"kZ

177 /keZ] n'kZu] Kku vkfn fdl izsj.kk ls iSnk gq, gSa \

d½ 'kkafr dh pkg ls [k½ vkuan dh izsj.kk ls

x½ la?k"kZ dh izsj.kk ls ?k½ leL;k lek/kku dh izsj.kk ls
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178 ys[kd dk bl okD; ls D;k vk'k; gS &

leL;k,¡ oLrqr% thou dk i;kZ; gSA

d½ thou Lo;a eas ,d leL;k gSA

[k½ thou leL;k ugha] ,d la?k"kZ gS

x½ thou eas leL;k,¡ rks gksrh gSa] mUgsa Lohdkj djuk pkfg,

?k½ thou vkSj leL;k,¡ nksuksa R;kT; gSaA

179 bl vuqPNsn dk ewy Loj gS

d½ fujk'kktud [k½ izsj.kkijd x½ fparuijd ?k½ fo'ys"k.kkRed

180 ys[kd us ikBdksa dks D;k izsj.kk nh gS

d½ leL;kvksa ls cpus dh [k½ thou dks thus dh

x½ la?k"kZ iFk ij fot; ikus dh ?k½ nkf;RoiwoZd dke djus dh

181 fuEufyf[kr 'kCn dk lekl foxzg fyf[k,

va'kqekyh

d½ v'kq uked ekyh [k½ va'kq gSa ekyk,a ftldh vFkkZr~ lw;Z

x½ v'kq vkSj ekyk ?k½ va'kq tSlk ekyh

182 okD; dks mi;qDr eqgkojs }kjk iwjk dhft,

dfo fcgkjh us vius nksgksa eas

d½ dye rksM+ fn;k gS

[k½ tSlh djuh oSlh Hkjuh dks pfjrkFkZ fd;k

x½ xkxj eas lkxj Hkj fn;k gS

?k½ nw/k dk nw/k ikuh dk ikuh dj fn;k gS

183 vkS|ksfxd 'kCn eas dkSu lk izR;; iz;qDr gS \

d½ fxd [k½ ;ksfxd x½ bd ?k½ bueas ls dksbZ ugha

184 js[kkafdr va'kksa eas inca/k dk uke fodYi ls pqudj fyf[k,

Lora=rk ds fy, viuk loZLo lefiZr djus okys yksx vej gks x,

d½ fo'ks"k.k inca/k [k½ loZuke inca/k x½ laKk inca/k ?k½ fØ;k inca/k
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185 izlUurk izdV djus okys okD;ksa eas -------------------- dk iz;ksx djrs gSa

d½ v)Zfojke [k½ dks"Bd

x½ fooj.k fpUg ?k½ foLe;okpd fpà

186 lgh fodYi dks pqfu,

tks fcuk osru ds dke djs

d½ LoSfPNd [k½ oSrkfud x½ voSrfud ?k½ bueas ls dksbZ ugha

187 nknh th lekpkj i= i<+rh gSaA okD; eas fØ;k dk Hksn igpkfu,

d½ f)dedZ [k½ vdeZd x½ ldeZd ?k½ bueas ls dksbZ ugha

188 dky ds fdrus Hksn gksrs gSa \

d½ nks [k½ pkj x½ N% ?k½ rhu

189 js[kkafdr va'k eas dkjd fodYi eas ls pqudj fyf[k,

euksjek miU;kl i<+rh gSA

d½ dÙkkZ dkjd [k½ deZ dkjd x½ laca/k dkjd ?k½ dj.k dkjd

190 lokZf/kd mi;qDr laf/kLFk 'kCn crkb, A

vfr$vkpkj

d½ vfrpkj  [k½ vrh;pkj x½ vfr;kpkj ?k½ vR;kpkj
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laLd`r

191 ^;|fi* 'kCn dk lfU/k foPNsn gS%

d½ ;fn$vfi [k½ ;n~$vfi x½ ;|$fi ?k½ ;fn$fi

192 laLd`r eas Lojksa ds fy, iz;qDr 'kCn gS

d½ vr~ [k½ v.k~ x½ go~ ?k½ vp~

193 Þ{kky;frßdk fof/kfyax dk :i gSA

d½ {kkyf;";fr [k½ {kky;qr x½ {kky;sr~ ?k½ {kky;re~

194 Þxkao ds pkjksa vksj ckx gSß okD; dk 'kq} laLd`r :i gS%

d½ m|kue~ xzke% ifjr% vfLr [k½ xzkee~ m|kue~ ifjr% vfLr

x½ xzkea ifjr% m|kue~ vfLr ?k½ xzke% m|kue~ vfLr

195 Þxq#ß 'kCn dk ÞlIreh foHkfDrß ,dopu dk :i gSA

d½ xqjkS [k½ xq:e~ x½ xqjks% ?k½ xq#u~

196 ÞHkoku~ß 'kCn ds iz;ksx eas dkSu iq#"k iz;ksx gksrk gSA

d½ izFke iq#"k [k½ e/;e iq#"k x½ mÙke iq#"k ?k½ dksbZ Hkh ugha

197 Þo`{kS% Qykfu irfUrß dk 'kq} :i gSA

d½ o`{ks.k Qykfu irfUr [k½ o`{ksH;% Qykfu irfUr

x½ o`{kk.kka Qykfu irfUr ?k½ o`{kaQya irfr

198 ÞlokZlke~ Hkk"kk.kka tuuh dk vfLr\ß

d½ fgUnh [k½ vkMTy x½ Qkjlh ?k½ laLd`r

199 flag ----------------------- xtZfrA mfpr 'kCn ls fjDr LFkku HkjsaA

d½ o`{ks [k½ x`gs x½ ous ?k½ xzkes

200 ßfirq% ue%Þ dk 'kq} :i gSA

d½ firfj ue% [k½ fi=s ue% x½ firje ue% ?k½ firq% uekfe


